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1.6 Solve Quadratic Equations

Recall: Solving a quadratic equation means finding the value of the roots,
zeros or x-intercepts. You are finding where the function, f(x) is zero.

A. Solve by Factoring Graphs on next page... 4 I
Ex. 1 Solve each of the following: ?_osv:ti?xyg%‘ﬁnd weros?
a) f(x)=(x-3)(x+4) b) f(x)=x>+7x-30 2. Factor.
y 3. Set each factor =0
i AN Zerses gv(/x) = . and solve for x.
O = (- 5}(0(—«—“{\) O X% T 20
X-2 = —
w;gg S \\, - </\(‘_§3</>(—% lb> | /
X = ~
S x=-l6
c) f(x)=4x"-9 d) f(x)=3x"+12x e) Find the vertex of d)
O :<°/Z’\(—/»%3<2'>(~3> O e 3’X(’><—" Ll\ 1:\1 A A‘)"/S of—sy v 1n
= > o \ S+ (4) J '
;74( +32 =0 e = 2 N Y= =
X =-3 =-2
2
(-2 = 3¢-2) 244 )
= —-6(2)
= =1
B. Solve from Vertex Form N (-5 —12)
Ex. 1 Solve each of the following:
o 1. Sety=0.
— I 2 J—
B =2x-3)" -8 2. lIsolate for x
3 21(9«—3\2
S o=(a_ 3\32
Tdu =2
T2 +2 =7
V4 N
=243 X=—2x %
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l.a) f(x)=(x-3)(x+4) 1.b) f(x)=x>+7x-30

\ (~10.0)
(—4.0) | (3.0) = =

2

1.¢) f(x)=4x"—12x+9 1.d) f(x)=-3x>+12x

40

(1.5. o;

2.a) f(x)=2(x—3)* -8
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C. Solve using the Quadratic Formula Exagy
answerSO
—b+~b* —4 "yt
Recall: The quadratic formula:  x= ac
2a
Ex. 1 Solve. Give exact answers only.
8 3x>+4x-2=0 b) 5x*-3x+2=0
=2 Vb -dac o2 ST e
XA - 2.
= IV ey e T e
2 2
= “HEOWCL g, S
vy 7o
o 'o
= T ITo— - 3T
I8 >
2 i
- —¥+rZsg No _SQL\)L-\MS)
/g 3 - ZQ/'QCS
- - 2xJio
2

We can determine the number of roots
by looking under the radical sign / \
Quadratics can have no zeros, 1 zero, or 2 zeros.

2
—b + b* —4ac Sketch an example of each scenario:
X =
2a N\
This is known as the \ NN
- - - L
Discriminant bz- 4ac no zeros one zero two zeros

_/

|:> If b%-4ac>0 then thereistwo real roots

l:> If b2-4ac=0 then thereis one real root

) If b>-4ac<0 thenthereis no real roots
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Ex. 2 For each quadratic equation, determine the number of roots.

\evrlex -\forw\\.
a)2x2-x+5 =0 b) 4(x+1)*-7 =0
D:b7"’\QC \/(*—l\—?—) { \4

:<—\\)2‘ L‘\(Q\)<5-> O@z"s O \‘y
ilgﬁfﬂ) ) Ze e s
TN g
c) (x-6)2=0 d 2x2+8x+8=0
N <_Q>,DB b = 107*\-\-@(
o’\m’X’Gx\ls,l = BQ_LKZB(S)
: =LYy -
'IQ"]Q (\GQ‘\\ :(;T by

Onc /’“QQ‘L
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Homework
1edf, 3bdf, 5S¢, Gabe, 7, 12, 130

WY, 4B

p. 49




